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Inequalities and Absolute Value. Form A 

1. The inequality 5 − 2𝑥 ≤ 25 is equivalent to which of the following inequalities? 

 
(A) 𝑥 ≤ 10 
(B) 𝑥 > −10 
(C) 𝑥 ≥ −10 
(D) 𝑥 ≤ −10 
(E) 𝑥 ≥ 10 

2. The inequality 2(5 − 3𝑥) > 3(𝑥 − 1) is equivalent to which of the following inequalities? 

 

(A) ଵଷ

ଽ
 

(B) ଵଷ

଺
 

(C) ଽ

଺
 

(D) ଽ

଺
 

(E)  

3. Which of the following inequalities represents the graph shown below on the real 
number line? 

 

 

 
(A) −3 ≤ 𝑥 < 2 
(B)  3 < 𝑥 ≤ 2 
(C) −3 ≤ 𝑥 ≤ 2 
(D) −2 < 𝑥 ≤ 1 
(E) −3 < 𝑥 ≤ 2 
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4. Which of the following inequalities represents the graph shown below on the real 
number line? 

 

 

 
(A) −2 < 𝑥 𝑜𝑟 5 < 𝑥 
(B)  −2 ≥ 𝑥 𝑎𝑛𝑑 5 ≥ 𝑥 
(C) −2 ≤ 𝑥 𝑎𝑛𝑑 5 ≥ 𝑥 
(D) −2 ≥ 𝑥 𝑜𝑟 5 ≤ 𝑥 
(E) −2 ≥ 𝑥 𝑜𝑟 5 ≥ 𝑥 

5. Which of the following inequalities represents the graph 𝑥 > 4 on the real number line? 
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6. Which of the following  represent the values of x that are the solutions for the inequality 
(𝑥 + 3)(1 − 𝑥) ≥ 0? 

(A) −3 ≤ 𝑥 < 1 
(B)  −3 ≤ 𝑥 ≤ 1 
(C) −1 ≤ 𝑥 ≤ 3 
(D) 1 ≥ 𝑥 𝑜𝑟 − 3 ≥ 𝑥 
(E) −1 ≥ 𝑥 𝑜𝑟 3 ≥ 𝑥 
 
7. Which of the following is the inequality for the graph given below in the standard (𝑥, 𝑦) 
coordinate plane? 
 
 
 
(A) 𝑦 + 𝑥 < 0 
(B)  𝑦 − 𝑥 > 0 
(C) 𝑦 ≥ 𝑥 
(D) 𝑦 ≤ 𝑥 
(E) −9 < 𝑦 + 𝑥 ≤ 0 
 

 

 

 

 

8. Which of the following graphs below is the representation for the inequality  

5𝑦 ≥ 2𝑥 + 25? 
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9. Which of the following is the inequality for the graph shown below in the standard (𝑥, 𝑦) 
coordinate plane? 

 

(A) )  0 < 𝑥 + 𝑦 ≤ −3 
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(B)  𝑦 − 𝑥 > −3 
(C) −3 ≤ 𝑥 + 𝑦 < 2 
(D)  −3 < 𝑥 + 𝑦 ≤ 2 
(E) −3 < 𝑦 ≤ 2 
 
10. Which of the following is the inequality for the graph shown below in the standard (𝑥, 𝑦) 
coordinate plane for the circle at the origin and a radius of 5 inches? 
(A) )  𝑥ଶ − 𝑦ଶ ≤ 25 
(B)  𝑥ଶ + 𝑦ଶ ≤ 5 
(C) 𝑥ଶ + 𝑦ଶ < 25 
(D)  𝑥ଶ + 𝑦ଶ ≤ 5 
(E) 𝑥ଶ − 𝑦ଶ ≤ 5 
 
 

 

11. What is the value of the 
expression |−4| − |7 − 49| + 1? 

(A) 47 
(B) −38 
(C) −37 
(D) 37 
(E) 38 
 

12. What is the value of the expression |3(−3) − 18|? 

(A) 27 
(B) −27 
(C) −9 
(D) 9 
(E) 18 
 

13. What is the solution to the equation |3𝑥 − 1| = 4? 

(A) ହ

ଷ
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(B) ହ

ଷ
 

(C) ହ

ଷ
 

(D) ଷ

ହ
 

(E) ସ

ଷ
 

 

14. What is the solution to the equation |1 − 2𝑥| = 4? 

(A) ହ

ଶ

ଷ

ଶ
 

(B) ଶ

ଷ

ଶ

ହ
 

(C) ଷ

ଶ

ହ

ଶ
 

(D)  

(E) ଷ

ଶ

ହ

ଶ
 

 

15. What is the solution to the inequality |𝑥 − 4| < 7? 

(A) −3 ≤ 𝑥 ≤ 11 
(B) 𝑥 > 11 𝑜𝑟 𝑥 < −3 
(C) −3 < 𝑥 < 11 
(D) 𝑥 = −3 𝑜𝑟 𝑥 = 11 
(E) ) −11 < 𝑥 < 3 
 

16. What is the solution to the inequality |𝑥 + 3| > 5? 

(A) −8 ≤ 𝑥 ≤ 2 
(B) 𝑥 > 2 𝑜𝑟 𝑥 < −8 
(C) −8 < 𝑥 < 2 
(D) 𝑥 = −8 𝑜𝑟 𝑥 = 2 
(E) ) 𝑥 > −8 𝑜𝑟 𝑥 < 2 
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17. What is the solution to the inequality −2|2𝑥 + 3| + 14 ≥ −16? 

(A) −9 ≤ 𝑥 ≤ 6 
(B) 𝑥 ≥ 6 𝑜𝑟 𝑥 ≤ −9 
(C) −9 < 𝑥 < 2 
(D) 𝑥 = −9 𝑜𝑟 𝑥 = 6 
(E) ) 𝑥 > −9 𝑜𝑟 𝑥 < 6 
 

18. What is the solution to the inequality |−2𝑥 + 7| + 5 ≥ 14? 

(A) −1 ≤ 𝑥 ≤ 8 
(B) 𝑥 ≤ −1 𝑜𝑟 𝑥 ≥ 8 
(C) −1 < 𝑥 < 8 
(D) 𝑥 = 8 𝑜𝑟 𝑥 = −1 
(E) ) 𝑥 ≤ 16 
 

19. What is the solution to the inequality 2|𝑥 + 4| + 6 > −2? 

(A) 0 < 𝑥 < 8 
(B) 𝑥 > 0 𝑜𝑟 𝑥 < −8 
(C) −∞ < 𝑥 < ∞ 
(D) 𝑥 = 8 𝑜𝑟 𝑥 = 0 
(E) ) 𝑥 ≤ 8 

 

20. What is the solution to the inequality  
|ଷ௫ିଷ|

ିହ
? 

(A) −19 < 𝑥 < 21 
(B) 𝑥 > 21 𝑜𝑟 𝑥 < −19 
(C) −∞ < 𝑥 < ∞ 
(D) 𝑥 = −19 𝑜𝑟 𝑥 = 21 
(E) ) 𝑥 < 60  
 

1. C        11. C      
2. A        12. A      
3. E        13. C     
4. D        14. E      
5. A         15. C 
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6. B        16. B 
7. A        17. A 
8. A       18. B 
9. C       19. C 
10. C       20. A 

 

 


